Efficiency vs P,

0.01¢

0.0092—----------§ ------------ ............
0,008+ evineseeseeeas S
T S s .
S e AR
0.008F+++ererivrnreenees S R
0.0042—----+—+----§ ------------ ------------ NN
0003_}4, """""" """"""" """"""
0.002;---+—-----§ ------------ ............ e
0.001;—---+------§ ------------ ............. e

S
1.25—-- ------------ ORI

—=— DQM_TT__mkFit_lowpT
—— DQM_TT__mkFit_BDT_lowpT

0.01¢

0.009F++--

0.008F -+

0.007F++--

0.006F -+
0.005F
0.004F -+

0.003F -+

0.002F -}
0.001F- -+

Efficiency vs ¢

0.0
0.009E
0.008F
0.007E
0.00625
0.005F
0.004F:
0.003F
0.002ff;
0.001
off

15[




	Contents
	Page 1


